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17U/119/31(i)
No. of Questions : 180
_ ot S 1 180 |
Time : 2 Hours | Full Marks ; 450
aug : 2 HUE W 450
Instructions.: -
fAaer ¢

This paper consists of Objective Type Questions and is divided into
Two Sections (I & H) as under.
T8 H-H AR Wel ux eniia ¥ adr & west (199 m)
F faver B, Sor B A able ¥
() - Bection - ¥ consists of 120 Objective Type Queauuna on General
Awareness, in some major subjects.
w8~ 1% 1@@%%@33@%%&1%%,
T Senie B .
(b) Section - HopnmﬁtsquObJechvew@ucsuﬂmm[HEnghsh'
Langusge and (II) Hindi Language.
EUS- N7 30 sghReei gv (1 S WG%TEIIIH
gy & w9 9T arnfe oo

A candidate is required to attempt as many questions as he/
she ¢an of Seetion. I, and Questions oni ANY OKE of the TWO
Language papers (I} English-OR (I} Hindi in Section -1
aeefl § ofifte B fF @9F - 1T @B -0 & (1) SiEeh &
(t) &t wrwr mue @ orftemilen Wl B B HY

3 P.T.O.
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Note : {1} Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect

answer. Zero mark will be awarded for each unattempted
guestion.

ATEEFRITTEH 999 B B FE B SIS FL | @S 99 3 (f7)
B B T HEF TOT FUT B [T TF OF F RN
qEAE ST 99T il AT 7Y BT

(2] If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

q1E waiftrers Aspfovs I 9E I & e wdia 2, o Fresean
SEEG O S I

SECTION -1
gvg -1

01. Avoilent storm with winds whirling around a small area of extreamely
low pressure, usually characterised by a dark funnel shaped cloud
causing damage along its path is called :

(1} Tornado (2) Whirlpool

(3) Tsunami @ {4) Hurricane

Wk il 1 0 eI Rrenseerd o e geit ' o 0% 812
ﬁﬁﬁ(mmaw-ﬁmﬁw%, E!E?I‘I?IT?"W

(1) &FET (2) &t

(3) g (4) @A

02, .Sclect the correct pair :
(1) Vitamin C - Goitre (2) Vitamin A - Rickets
(3} Vitamin D - Ana;amm@ (4] Vitamin B, - Beriberi
i
wdr At g

() faefd c- H @) fEfa a- Réga
(3) foenfieT D - @A B FH (4) s B, - al-ad



03.

06.
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awine flue is caused by

ST FY B OWCH ©

(1) HN, @ @) BN,

(3) MN, (4) WM,
Goat milk was used for-disease: _
(1} Dengue fever  (2) Malarig fever
(3) Filaria fever (&) Polio

TRl & g FE e ¥

(1) =7 (2) =

3) m@lﬁm {4] qiferat

Jehiivi made paste of two food itepis P & Q and put them in two test
tubes, She added dilute iodine solution of fosd item P, while copper
sulfate soluticn & caustic soda to food item Q. She observes that P
turned blue - black & Q turned purple. Which of the following is
correct regarding this ?

(}} Qis gtarch rich food (2). Pis a protein rich food

(3} Qlﬁﬂ,fﬂ.t rich food, {4) Pisa starch rich food

m%ﬁwwwéﬁm@ﬁaﬁww
et % Y@ oIk P Q IR Rar | Sed P A e @

quﬁmm@mwmwwﬁw
i Q @ o Fwh & v - WE@%

M Qi=E ¥ - (20 P A MATR
3) QHammr® 4 PHwER

. Pointing to a man, Anu said " His sister is iny dauighter's brother's

Mother" How is ths mef related to Anu's Son ?
(I} Cousin - (2) Father

P'Ti 0-
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7.

08.

09.

T AT H ST FAR B §Y S A FHe- ‘IHh e 49 38
& 9 B Al 2| IH AT B oA B AT Q R Fww &7

(1) ==Rr 98 (2) foar

(3} AT (4) 9O FEf SETAT ST EeRan

Which of the following materials upon burning smells like burning
paper ?

ﬂﬁﬁ-ww&wﬁwwm%aﬁrrﬂaar%;

(i} Cotton o (iv) Wool
TR 6 / &

(1) Silk o (v} Fur
| | Qe

(iti) Flax - (vi} Jute
LI o

(1) @), (i), (vi) 2 G Gv) W)
() (), i), (iv), (vi) (4} (v}, (v)

Which one of the following gas is used in manufacturing of Vanaspati
Ghee from Vanaspati Oil ? ;
gﬂﬂﬁﬂﬁﬁﬂﬂﬁﬁmﬁ%mﬁm%mmﬁﬁmm

(1] CO,(Carbon Dioxide) { ' ) (2) N, (Nitrogen)

3] O, (Oxygen) {4) H, {H}rdr?gen]

The rear - view mirror of a car is :

(1} Plane [2) Concave
(3] Convex " (4) Parabolic
R § 98 @A Qe g9vr e gE & & g 7

(1) ¥wad (2) ST
(3] AT (4) 9™



10.

1L

12.

13.

17U/ 119/31(i)

Which one of the following cities of India was Wﬁrstaffe@ted by cyclone
Hud - Hud in october, 2014 ?

(1) Vishakhapatanam } (2) Bhadrak | |

(3) Ganjan ' / [(4) Bhimunipattanam
Wwﬁﬁ-ﬁrmwzmﬁwﬁ—@mmw
w7 & guide gom o ?

(1) TarEgmgE™ . (2) &

(3) = 4) WgFreEeT

'Gurushikhar' is the highest peak of which of the following mountain
of India ?
: T2

(1) Satpura - (2) Maikal

(3) Mount Abu (4) Mahadeo -
TeRrET W & R W deer @ wed S a9 ¥
(1) &&gsr . (2) HAEDHT

(3) WRER -NTY ' (4) wHERT

In ancient Indis, 'Dra;s' was a measure of :

(1) Ligquids - -7 (2) Precious metals
(3} Grains £ =2 (4) Land

o wRa § Ry R o o ;
(1) /8" i (2) BT Hg

(3) & (4) 9m

United States Multmanmal Company, General Electric (GE) upm@d
its first: manufacturmg in India under"Make in India’ campaign
in; > 3 T '

(1) ﬂhmtdabad j;’
(3) Chakan

(2) Vadodara
(4) Surendra nagar

P.T7,0,
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14.

15.

16.

17.

1 A & orwia Hye g A ARSI FEE T
Eﬁﬁiﬁﬁmmwwnﬁﬁm@w

(1) STENEETE (2) @EE

(3) A (4) GEET

In India Vana Mahotsava is celebrated for a week which starts on -
(1) July 3 @\) (2) July 1

(3) July 5 e (4) July 7

‘G HERHd' ARG ¥ e Owire ames dar ¥ 7

(1) 3v<rg (2) 1Sjeng

3) 59 @ 799

Find the value of 75-7 x 16 = 2;

75-7%16 + 2 & JAT &
(1) 25 @ (2) 19

(3) 16 (4) 34

Which one of the following states has recently won National Award
for the best performance in ‘renewable energy' ?

(1) Tamilnadu @ (2} Chhatisgarh
& (4)

(3) Gujarat Haryana

e o 3 B & § elimeei oo & 4 0 9% uedE &
TS gTeRR Shal & ¢

(1) dEg (2) SR
(3) IO (4) efEmn

Zika Viras is transmitted by o
(1) Anapheles Mosquito (2) Culex Mosquito

(3) Aedes Mnsqﬁitn 7 (4) Sgndﬂy
i

8
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st STy feRedy e 2 7 _
(1) wrftieT 7=8Y (2] ¥R Tesw
(3) I AT _ (4) Hodoeng

18. The Typhoid fever is caused by -
(1) - Baeteria S {2} Virus
(3) Werms & (4) Fluoride minerals.

(1) SfETg (2 fory ¢ S
(3) (4} wEOEE @
19. Which one of the following is a synonym of chiketsa ?
(). Besayaha oy (3 Visha
(3) Hita (Y @ Anubandh.
(1) TEmET @ =
(3) fe=r . (4} I
20. Which of the following act as important antiogident in the body'?
(1) Vitemin® . -~ (2] Protein -
(3) VitaminD . (04 {4) VitamihE
) PewB, 2)
{3 B D @) B e

(1) Endocririe gland (2) Exoctine gland
(3) Bothdbove {4) ‘None of the above

(3) Wﬁfﬁ’f (4) A5t T F 0E T

9 P.T.0.
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22.

23.

24,

25,

In which year WHO launched its Alma Ata Declaration on health for
All ?

e ad § ‘WHO B HoR- BT W affer’ TRy mm ?
(1} 1948 . i (2) 1978
(3) 2010 (4) 2013

Which one of the following clements increases the resistance i plants
against insect and pest disease ?

{11 Phosphorus 5 {2] Nitrogen
)

(3} Calcium (4) Potassium

B8 oo 2 Gt & e B g oy smar & e e B 7
(1) EEHIRE (2) EEIE

(3) hergaH - (4) arefiEm

Freshly prepared {made) bleaching power (CaOCL,) contains about :
(1) 33% of Available Chlorine

(2] 30% of Available Chlorine @ .]

(3} 30% of Available Chlorine /

i4) 100% of Avaitable Chiorine

Fafafia =hfeT gget (CaOCL) H BT # -

(1) 33% JUereel T C(2) 30% BUeE R
(3) 50% JUTE T (4) 100% JUred FAld

The strength of the sewage is ¢xpressed in terms of the :

(1} Biochemical Oxygen demand (BOD)
(2) Carbon Oxygen demand (COD) [

 (3) Sulphur Oxygen demand (SOD)

(4} None of the above

ST () @ OT T afierer fR oET R 6
(1) ﬁT{iﬁﬁ%ﬁifﬁrT;W fBars 4 (BOD)

(2) HEF-eEFdeE EATE ¥ (COD)

(3) HepL-AERie fEArs H (SOD)

(4) Soded q F P T

10



26.

27.

28.

30.

170/119/31(i)

The Kala-Azar is transmitted by :

(1) Sandfly : (2) Housefly

(3) Mosquito @ {4) TeeTsefly
‘T ST ¥ g 5
(1) Yoevard § - (2) Rsicii
(3) WemT / (4) Tse Tse Hadl §
Camfort Zoned lies'on |

(1) 77-80°F ° (2) 69°F

(3] 83°F (4) 100°F

The nompamhw of Air ig :

‘arg’ ¥ Frsrer R R

(1) N,-78.1%, 0, -20.93, CO, - 0.03%

(2) N,-80%,0, - 16%, CO, - 4% @
(3) N, - 56%, O, - 40%, CO, - 10%

(4) N,-20%,0, - 60%, CO, - 20%

. The Jaggery is prepared from :

(1} Sugar beat : (2) Sugar Cane

(3) Carrot @ (4) Radish

(1) FH=LH (2) TR
{3 AN &/ L (4) TR

Select correct option for energy (Calorie} value per cup of 150 m} :

(1) Coffee > ‘Ifrea > Cocoa {2) *Cocoa > Coffee > Tea
(3) Cocoa > Tea'> Coffee {4) Tea > Coffee > Cocoa

11 P.T.0,
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Th HY (150 ml) Freifafa 9g & S (Calorie) F TEl %9 &
S {l) HIH > G > W (2) I > HBB > =AM
(3) FE > G > Higt (4) TG > BB > ikl

31. Which of the following option is correct :
(1) Protein 4 kecal, Fat 9 kcal, Carbohydrate 4 keal
{2) Protein 5 kcal , Fat 8 keal, Carbohydrate 3 kcal @
{3) Protein & kecal , Fat 7 keal, Carbohydrate 4 keal

(4) None of the above

frfiltae drosad 9 9T ot & R TX 98 3T 8 -
(1) e 4 keal, TET 9 keal, FHBEFT 4 keal

(2) W& 5 keal, TGT 8 keal, FHEEERE 3 keal

{3 N 6 keal, 5T 7 keal, FEEESe 4 keal

(4) I8 4 $g e

32. Which is incorrect for test of pasteurized milk :
{11 Phosphate test (2) Chloride Test
(3} coliform count (4) Standard plate count
qiggfiga gy A FitE B R @e-dr Bl T 2o

(1] SR S (2) FWIUSE S
(3) HENEH HIFe 4) Vvdz R HeEw

33. Holder (Vat} method of pasteurization of milk is -
(1] 63 -66°C for 30 min, cooled to 5°C
(2) 63 -66°C for 1 hrs, cooled to - 20°C @
(3) 63 -69°C for 30 min, cooled to - 80°C
(4] None of the above

magﬁaﬁwﬁéﬁ?ﬁfﬁrwauﬁmzﬁm%:
(1) 63°-66°C 30 fiFlE 5°C % 38T BT
(2) 63°-66°C 1 "@el -20°C % g8 T
(3) 63°-69°C 30 fAee -80° C &% BT HTA

@) T & FE A

12
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. in :

38.

170/119/31{i)

Prevention of food Adulteration Act was passed by Indian Parliament

(1) 1959 (2) 1954 ° (3) 1968 {4} 1945
AR T B T s Rrarer sy a0 wite o o 2
(1) 19593 - (2) 1954 %

(3) 1968 % (4) 1945¥

Food Adulteration raearis : : :

(1) The addition of I, & Fe in salt - ;L\ : ! ._ _

(2) The mixing of substitutions whic! the quality of food
(3) Addition of Tnmeaﬂté am‘l falge measurement

(4) B&Cboth

g saffer (eme) @ o § -
(1) 9% 7 e wr Sads e
(2) %@Wﬁmxaﬁrﬁﬂmﬁﬁmmwm

(3) Wmﬁ%ﬁﬁmt{amm
4} Bud.Cc A

True about Mid Day Meal Programme which is a schoel lunch
pmgramme :

(1) 1,?3 TutalCalocriea-!-yEpm;tgm

-(2) 1,1!'2 Total Calories + 112 protein I

(3) 174%™ Total Calories + 1/4 protdfy .
{4) 1/3"Total Calories + 1/4 protein

HEH, W e o g o AT e em e A R aw &
(1) 173 war wa o + 1/2 ey = B -

@) 1}9%@W+rgzﬁw@m

@ 1/4 R G T 14 Rowmr oSl

(4) lfa%mﬁﬁaﬁpﬂmm@a;aﬁq

13 P.T.0.
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37.

38.

39.

The Nuclear family means :

(1) The married couple and their children while they are still regarded

as dependents
(2) The married couple ... Father
(3) The married couple .... Mother @)
{4) The married couple ... Relatives ;
‘T qRare’ & ol ¥
(1) faaifed e, o9h T=4 o9 @@ 4 AT B
(2) Fyenfea ssr og o

(3) Fenfes wer ug A
(4) Tenfea er o o= ReER

The protective food means !
(1} Fat (2) Carbohydrate

(3} Protein C\ (4) Vitamins
Tar @Ed e ®

(1) F&n
(3) W& _[4} fazrﬁﬁr

Function of large intestine is :

{1} Digestion of food

(2] Absorption of food 5
(3) Absorption of minerals & wa

(4) None of the above

g2} aifa @ B ©

(1) | W/ A=A

(2) @ngﬁzﬁramai’rw

(3) ST wd e e T STER

(4) T A @ix T

14



40. Ptylin is useful in the digestion of :

(1) Starch I (2)
(3) Protein ;o (4)

erafert Brads ara f 9ere g

(1) ™ j 2)

(3) WA (4)

' The Night blindness is caused by :
(1) Vitamin D ()

(3) Vitamin C @ (4)

w7 B @i | o ¥

(1) Fefs D (2}
3) ReEfm ¢ (4)

42. The Marrasmous is caused by :

(1) Protein enly (2]
(3) Both of them (4)
e AT Reast i | L] % ?
(1) o §és 8§ ' Iﬁl
(3) IR S QA (4)

43. the fibrous diet in food is consist of :

(1} Fat+Protein 2)

(3) Ceﬁuﬁme + Heémicellulose  (4)

Cwgmawr: (3)
(1) =\ o+ ST g 2

(3) HegelsT + PRRAT Iy . (4)

18

170/119/314{i)

Fat
Nucleotides’

CrsH

eS|

Vitarnin A
Vitamin B,

-ﬁmﬁwa
f&e B,

Less calorie in take
Less intake of Vitamins

Tl (Calorie) & T &
e 2 a0 |

Vitiming + Minerals
None of the abave

ﬁ'ﬂﬁﬂﬁrﬁﬁﬁgﬂﬁ
9 | HE it

P.T.O.
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44. The Translation means :

45.

46,

47.

{1} Protein synthesis (2] m-RNA synthesis
{3) t-RNA synthesis ] ) (4) r-RNA synthesis

ST T o7ef B

(1) WS Heeraor (2) mMRNA AT

{3).  t-RNA HgAWIT (4) r-RNA deeig

The Fluid Mosaic Model of membrane is consists of :

(1) Phospholipid + Protein (2) Triglyceride + Carbohydrate
(3) Choline + Carbohydrate (4) None of the above

P e & FT Ao dea ¥ 991 ©
(1) wHERRME + A& ‘

(2) TEFERES + FEERe

(3) @ + FEIEEST

4) T |/ HIF el

The function of Kidney in our body is.:
(1) Excreatory function

(2] Excreatory + Buffering mechanism -
(3) Exceratory + Perspiration
{4) None of the above

R iR F E B -
(1) I (2) ool + amii BeAafy
(3) T + WEA (4) 38 8 FI3 T

The difference between Prokaryotes & Eukaryotes is !

(1) Prokaryotes contain nucleus but Eukaryotees lack it
(2) Prokaryotes have nacked DNA but Eukaryotes contain arganised

DNA |
(3) Their is no difference
(4) (1) and (2) both

16
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5“#
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- BT od geiteie # oW #

(1) W ¥ 4 3 & A, pRitele § Wit

2) ﬁgﬁg\z % srirre DA Ber &, sryfe gdRelte # wmiva DNA

(3) W s’ e B

(4 ()T @)=

. The BCG vdcoine used. for tie :

b 15 ' (2) Typhoid
(3) Diphtheria \___. {4} Pertusis
B.C.G St e fag somar o 8 °

i =0 @) eSS
The WHO definitian of health is ;

(1) Hesalthisa state of complete physical, mental & social wellbeing
& not merely an absence of disease or intermity ——

(2) Healthds a state of mind not related to dissase

(3) Health related to disease only

(4] None of above

WHO B & w1 ey & i B -

(1) 3w, vl o wrfe w9 & oot e @ A1
(2) wwen TRE Red B, S8 § a=fag Tl

(3) ey By Sl § wfaw &

(4) ‘sulRr 7 & ol

The Father of Indian medicine :

{1} Hippocrates () Chardta’
(3) Dhenvantri (4) Shushrut

17 P.T.0.
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Jeltg T & o9 © -

(1} fEREed (2) e
(3) el , (4) g

51. The Hygiene is
{1} Derived from Hygeia
(2) Science of health

(3} Sence of health and embraces all factor which contribute to
healthful living

{49 Nﬂng of these ﬂ-g\]

weaar B (Hygiene) : k_,/

(1) Hygid & Swg=

(2) " @Ere

13). @A G eE W Sifasr & e g B
4 T o =iz T8

52. The 'Vocational Rehabilitation' means :
(1) Restoration of the capacity to earn a livelithood
(2) Restoration of function
{3) Restoration of personal dignity and confidence
(4) Restoration of family and social mlatiqn

‘e gara’ & o B

(1) eTeRfer o 39 STt L
(2) Topamshiear &1 argsd

(3) =FiRT oF TR & A
(4) afvenfim wd QTR W= ° gErR

53. Which of the following Animals shows Camouflage ?
(1) Horse (2) Squirrel

——

(3) Golden rod crab @ (4) © Spider
e

18



54.

55,

56.

57.

17U/ 119/31{i)

fre-ar Sfia ST TR e § 7

(1) =T 2) Pl

(3] GIBU AT HEET 4 S

The full form of OPV is : : .

(1) Otal Polio Vaccine (2) Oral Polio Virus
(3] Oral Polio Varicella (4) Oral Polic Veotor

OPV'H T A7 ¥ :

(1) oiRe DRy Sdie
(2) ole qferR A
(3) - gy ARG
(4) AT G Y

The Vitamin C most abundently found in :
(1) Guava . -{2) Lime

(3 Orange F) @ Tomato
frad fafvs ¢ wed qrar ST § 7
(1) SHEs (2) g

(3} s (4) THET

The following are ‘miflels' except :
(1} Jowar {Sorghum) U {(2) DBajra (Pear] millet)

(3) Ragi . (4) Wheat
P & § Sr-ar BT & oo B
(1) =& (2) Tt
(3) ERT (4) g

The Basie Physiological regimen for drinking water have been
estimated :

(1) 1 liters per head per day
(2) 2 liters per head per day \-t{
(3) 3 liters per head per day
{9) 4 liters per hest! per day

19 P.T.0.
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T BY yo ARG e ¥
(1) 1 @Y ufdetay, afafRa
(2) 2 &fex uigefm, Rt
(3) 3 dteT yigefm, sk
(4) 4 <fiey gfasfam, ofaf=

58. The following are water born disease except Guinea :
(1) Guineaworm \ (2) Hepatitis-A
(3) Typhoid Y, (4} Hepatitis-B
i W e g S 78§ Faw MEEr & s

(1) i (2) BUewfeE-A
(3) <HEwEE (4) BUerfFa-B

59. The sound wave does not show the Phenomenon of :

(1} Scattering >3 (2} Polarization
(3] Diffraction ) (4] Interference
el ¢ o maidia 9l il

(1) SR (2) gL
(3} PBads (4) SR

60. The 'Agmark Standards' for food ltems are except :
(1) Mandatory for manufacture -

{21 There standard are set by Directorate of Marketing & Inspection
of the Govt. of India 3

(3) They express food standards in India Y \
(4) None of these

‘mmEre qFE B [ava & s @il T g v
(1) S B o et

(2) oF TE S GO & Ao T e e g
i & :
@) & wra § mEE W 2R & e

@) FH | g e

20



61.

621

63.

. The Qrganism used in preparati

17U/119/31(i)

The infection can be transmitted through the milk (unpasteurised)
(1) Typhoid . () - Cholera

@) Tobercutosis (1 ) () Hepaitie B

B T (e arglien) gw & Sa wem @

(1) TURES {2) R

(3) &aT 4 ey B

The plant toxin "Aflatoxins" produced by ;

(1) Aspergillus flavus. {2) Bacteria

(3} Viens . ' (4) Chemical toxin

drff # “aweiee 9y i U
(1) werfwE W@y 3 (2) wiEr] &’
(3] Ry 3| 4) TomEfer B axr

The tempomqr hardneas of water is due to the presence of :
{1) Calcium & Magnesium bicarbonate

(2) Calcium & Magneshum sulphate

(3) Calewim & Magnesium Chloride

(4) Sodium 8 Patassium Chloride-

qrit =5t Sreend SEivEt W e B

1) HRemw o FAlRey sEEEae

2) Bfsrm oF TR wHT
(3] FRapmy i YRt adzE
@) HifFTm wd GRiiEE s

(1) Roundworm (2) Redworms

(3) Pin-worm - (4] Hook werm

‘gt W T B Rig R st o R e §
1) W (wzatf} (2) weEph (Yea)
(84 e 4 gl

21 P1.0O.
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65. The example of Hinge joint is :

(1) Shoulder joint (2) Hip joint
(3} Finger joint (3 (4) Wrist joint
T FF T FRRT B

(1) F9 Fr oig (2) “@%’Tﬁ.ﬂi{ﬁ’r@’
(3) IRTE o1 e @) FAE F AP

66. Which is incorrect about the process of Winnowing ?
(1) Wind is used
(2} This is 2 methad of separation L [9
(3) Itis used to separate heavier and lighter components
(4) This process stalk is beaten to free the grain seed

‘“Bep @t BAfYy F Rag F o= wdt 98 g ?

(1] arg = 940 8

(2) FUERTW A iy R

(3) Bwh Ud W uErel & SerT HIA H A @

(4) BT i iesht IR B o1 B T FRar S ®

67. Which is incorrect or fibre ?
(1) Cotton and Jute obtained from plant i H\}'
(2) Wool and milk derived from animals C
(3} Synthetic fibre derived from plants
(4) Example of Synthetic fibre are Nylon, scrylic

Sy (wrged) B T A F TG 8 7
(1) 9 T J I I 8

(2) 9 4 M SR AT B

3) FEm W ety § o w6 OE .

(4) A W F IIELET B, T

22



68.

69,

17U/119/31(i)

During Cooking which Vitamin is destroyed :

(1) Vitamin C (2) Vitamin D

(3) Vitamin A . (4) Vitamin B;
Ao g F AT Pr-ar R s & s ¥
(1) Fef™Cc 2) fref =D

(3) Refiaa . {4-} feefi= B,

Which is incorrect s.hnut Roughage ?

. {1} Roughage does not provide:any nlitrient to our bedy

70.

(2] Itis essential component and adds to'its bk,

(3) It hielps our body get rid of undigested food @
(4] [t increases obesity

Ao & SHier Reughagc}%ﬁﬁﬁﬂﬂﬁﬂﬁg?
(1) e S 3 B o v o T8 weEr w0 ¥
(2) SITEEH e B ud A9 & SRR (Bulk) g ¥
(3) ormaftrr o & IS A WelEw ©

(4) @ Hierr sgET &

Reghrdiug Earthwarms which is incorrect ?

(1) Meves by alterante extcnsaﬂn & contractioh of the body using
muacir.

(3) ﬁrw:lgthc ground by muscles
(4} Itis a friend of formers.

FgL B WM X o e ¥

(1) Hams Ret & af-ar8 | ggu @ Rty & dar @
2) QO A Adet AR F

(3) ﬁﬂ?.h[ & %Iﬂ'l% o

4) Pramt ® fog amamrdy B &

23 P.T.O.
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T1. About Cockroaches which is incorrect ?

72.

73.

(1) Tt has hard covering

(2) The muscle of the Thorax connect with three pair of legs
(3] It contain 6 pair of legs

(4} Two pairs wings help the cockroaches to walk and fly
e (Haeim) & fBoa 7 orae - =

(1} T3 &g 9 & | @)
(2) @& &l 9fdE A W U 8 g 8 -
(3) P 6 A AT &8 ¥

(4) A N Y@ oM ud JEN F wenwE ¥

All are true about 'Rain Water Harvesting' except :

(1] Catch water - where it falls
(2) Roof to water - Harvesting is only method to harvest we

(3} It gives fresh water
(4] Collection. of water directly from the roadside channels

aut wiw weEE (3 ared sk & Rea § aae @
(1} &9F & @ 9¢ T§ Thatndl

(2) Ba W At oo HeEE gHATE B e

(3) U WS il W el 3

(4) wew fpt & SRl o Wy S dEdd

All are True about 'Wind Mill' except :
(1) The wind makes the wind Mill rotate
(2) Wind Mill is used to draw water from Tube wells

(3) Helps to gencrate electricity
(4] It produces pollution in air @
e qaER & Bwg 7 | ¥

(1) mggr{rua?rﬂﬂ%ﬁgﬁ?ﬁ%

() YT @1 gENd § Orl e S e
@3) g SO & E

(@) ARy MgNTT e ®

24
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75.

17U/119/31(i)
Recently ban cm-Maggi was due to :

(1) High level of Heavy Metals Es
(2) Due to Food Additive ~ @

(3) Food Fortification

(4) None of the above

mewmwnﬁﬂwmw%m?
(1) siftes =mr F oardl agelt & suRafy

2 %= uehe i it

(3) =g weud  (PIERRAE) -

(4) & | ¥8 T

Heart muscle mnt&lm} ;

(1) Straited muscle

(2} Nonstraited misecle

(3) Straited & Nonstradtet! muscle

(4) Nonme of the above | o
&= U W e B @

(1) «réae (weEda)
(2) Pl (srarfem)
(3] SIhET o

4 AN F Y9

76. ‘The pH of Blood is about :

TR o pH aaT @ -

(1) 72 2). 7.4
3 7.1° - 4) 7.6

77. The Collagen is

[1] Protein ' (2) Carbohychate
(3} Fat {1 (4) Mineral =~

25 P.T.0.
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78.

T9.

80.

FHleoT &
(1) 9 (2} HEABIEIT
(3) =41 4) @l

The Balancing Organs of our body are :
{1} Cerebellum + Chochlea O {2) Cerebrum + Forearms

(3] Legs + Hypothalamus (4) Corpus Callosum + Pons

(1) ThEe + wfeE (2) AEH + g,
(3) AT + egaEeEy (4) T BT ¢ G
The Muscles are derived from :
(1) Endoderm {2) Ectoderm
(3} Mesoderm > B (4] None of the above
ofsal a5 Swfy et & ¢
) e | T 2) uEerEd g
(3) T I @) T & g TE

All are correct about enzymes except :
(1} Protein in nature —

(2) Catalytic activity B

(3] Takes part in reaction

(4) Decrcase activation energy

oo @ Rva § @9 ¥ 8
(1) et & DdE A ¥

(2) TS T

3) el SR # S a9
(4) T S @ B w E

26



81,

82,

83,

84,
(1) Methyl Alcohol "1 {z] Ethyl Alcohol
(3) Tertiary Alcohol Butanol

85.

17U0/119/31{i)

Beri - Beri is caused by ;

aﬂaﬁﬁwfﬂ?ﬂﬁfﬁﬂaﬁﬂ?ﬁﬁ@m%

(1) B, . 2) B,
(3 B @ (4) Bmtm

2

Chemical responsible for Bhopal Gas tragedy was :
{1} MIC . 2) PVC

{(3) Cyanidé - (4) H,S gas
Mot By el & wep A f :

(1) mic (2} PYVC

(3) ueEES (4} H,S8%=

The 'Argimone Mexicana' causes food adulteration :
(1] Mustard 0@l {2) Coconut Qil
(3) Safflower Oil - 4]  Sunflower Oil
‘AT Bt R P B A Y
(1) a%Er ae | {2) fga aa
(3) T A ) FgEh dw
Hooch/Desi Sharab cuntams toxic material :

2 e A e wert S @ -
(1) Tromge Qobledt .. - (@) oS oeRed
(3) =TAH gEmed (4) SR

Generally toothpaste consains flouride arpund ;
(1} 3G00 -.4000 Ppm Flouride

(2) 1000 =20,000 Ppm Flouride !

(3) 10,000 -2 @ﬁ,ﬂﬁ&?pm Fiﬂurldﬂ s
(4] None of the above

aT P.T.0.
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A g § UIIISS U o 2o
(1] 3000-4000 Ppm SARES (2) 1000-20,000 Ppm HITBY
(3) 10,000-2,00,000 Ppm FIREE  (4) §710 & Hg 7l

86. The E,Coliis -

(1) Commensal Bacteria {2) Pathogenic Bactena
(3] Found in rectum (4} Can form folic acid
Ecoli ¥ : 6\ ]

(1) A=t HE]

(2) TCHERIEE ST

(3) Ywem # wwr o @
4)  oiferr o SR FEET €

87. Which of the following protein of blood is helpful in coagulation process ?
{1] Globulin @ (2) Albumin
(3) . Fibrinogen (4) Ceruloplasmin
< @ et ST 7 FETeh e ¥

(1) wehgfer (2) TR
(3) e (4) GEATOIHT

88. First class of proteins in diet can be obtained from :

{1) Soyabean, Dal, Milk

(2} Milk, egg, Meat @ _

(3) Cereals, Dals, Miliets. -

(4) Salfflower, Sunflower Qil

AE) oTE MEm B A B .
(1) dEEE, w9, 39 (2] &, ST, HiH
(3) I, &R, X (@) B, TIEl a7
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89. Protein synthesis take place in

91.

(1} Rough Endoplasmic Reticulum
(2) Smooth Endopiasmic Reticulum

(3) Free Ribosome
(4) Cytoplasm @
W& Heehyer diar % .

The One Gene, - One Protein - GncEnzymeHypwthemmede‘
{1) Beedle-& Tatum- 1968, (2] Hargovmd Khurana
3) ViR Rama Krishnan | | (4) Lal ji Singh

W -0 SE-TF OSTET B ufeseqEr oot -
(1) 9=% og =% -1968 (2) ENR= g

3) VR HHeT 4 e o e
The fructose is :

(1} Ketose Sugar (2) Aldose Sugar
(3) FoundinGrapes (| ) (4 None
e B o

(1) =" s | (2) S e
(3). Wﬁww% {8y A ol '

92, Thc Bair bm:hca fnund in:

(1) M@lﬂ =) {2) Female
(3] Lymphogytes (4) RBCs
Y EﬂEﬁﬁr-(Barr Bndl.iés.']""qﬁ R B o B
(1) gedt 4 - 0 0

@) freteme ¥ . 4) RBOsT

29 P.7.0.
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93.

94,

95.

96.

Obesity 1s due o

(11 Hypertrophy of Adipocytes

12) Excessive deposition of Triacylglycerol in Adipocytes
(3] FHyperplasia of adipocytes

14} All of the above i {

areTy & HEO 8 _ -

(1) a1 iRl H1 ST gE

Q) ae HREmel § sEuiEeaas ge

(3) a@r PFET H HE 9l

(4) TurER ddt

In human lemale fertilization occurs in ¢
(1] Uterus ,f‘:;)\’ (2} Ovary
(3] Pallopian ube \_ ./ {4 Abdomen

W%Ww%ﬁﬁﬁamﬁﬁﬁfﬁaﬁw%:
(1) "9 (2) SFU=ILA

(3) oA Tyd (4) T

The corrosive porisons are
(1) HCL & NaOH (cong) (2} Acetic acid

[3) Bicarbonate } (4} Lime
Hareh feag E @
(2

(1} ®ig HClUd NaOH ) affes ort

@) AEHDE (4 =

In which of the lollowing solution dead bodies are preserved ?
(i} Formaline (2) H SO

(3) NaOH (4) Glutaraldehyde

30
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98.

99,

170/119/31{i)

yo iR wt BrEd uik@e fsar omer £

(1) AR (2) H,80,

(3) NaOH (4) eiReERe

The Carpals & Metacarpals hones are :

(1) Hand bone. (2) Foot bone

(3) Skull bone .+ (4) None

(1) @ & 2 Y

(3) @gt & @) =

AIDS Day celebrated ﬁn :

(1) I™Deein every vear (2) 10" Dec in every yvear
(3} 7" Febiin every year! (4)  10% April in every year
AIDS DAY %=1 =mver & :

(1) 1 Re=T &t oied (2) 10 BEwET Ht ufed
(3) 7'Ha B niRad , (4) 10 s &t wfdrered

The Nucleoside consigts of ; .
(1) Base + Sugar (pentose) @
osphoric acid

(2) Base'+ Sugar (Pefitose) + Ph
(3] Base + Phosphoric acid

(4) Pseudoheptulose
e # A ¥

(1) & 9K g

(@) S+ T+ BRER ana

(3) I} + BeARE FEp_
4) TSR

31 P.T.0.
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100.Phogocvtosis is a process shown by :

(1] Lymphocyte T3 (2] Macrophoger
[(3) RBCs ' (D (4) None
SaReifay Gy @ifem 2 R o ¥

(1] fFrsaEe (2} PRt

(3] RBCs (4) g T

101. The Laughing Gas is :
T ¥ (Laughing gas) B

1} N0 @ (2) NO
(3) H,8 (4) H,0,
102.The Nephron is basic unit of :

(1) Kindey . (2) Lungs
(3) Liver @ (4) Spleen
FFE e g B

(1) 7% (2) BB
(3) = : (4) wirET

103. Total number of Chromosome in human
qqed & iR H = G B

(1) 46 ) (2) 44
(3) 48 (@) 42

104.Nails & Hairs are derived from :

{1} Ectoderm ! {(2) Mesoderm

(3) Endoderm {4) Endoerm + Mesoderm
a‘ﬂ@ﬁa?ﬁﬂma‘%’ramﬁré’ﬁﬁ%: .

(1] s | (2) Trarsd |

(3) TS | @) osted + HiEEd |
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105.The Major Constituent of bacterial cell wall-are :
(1) Homopolysaccharides
(2] Repeating Units of N-acetyl muramic acid (NAM)
(3) Repecting Units of N-acetyl Glueosamine {NAG)

K (4) Both (2) & (3) options o @
_,mmﬁgmw% | _

[1] TS

(2) N—rmfm qnm e B TaEaT (NAM)
@) N- Ui AR T (NAG
(@) 2mE 3 ;ﬁ:-&ﬁ? ﬁﬁﬁr

(1) Dewson & Daniell in 1935

(@) Singer & Nicotson in 1972 @
(3) Binning & Heinrich =
{4} Hargobind Khurana

‘ugE-aorn Wiew B sfia B

(1) Wqﬁﬁﬁmﬁrmaﬁﬁ (2) - R @ PRl 19'?2%‘
(3) RifhT wd Sl @ mﬁfﬁww

107. The major furiction of Golgi'body is :
{11 Protein %lnthﬁma

4 iﬁ;ﬁ@ synthesis
WMHWWH

(1) SR wemer

2] g K8 B aRuem e
{3) TEEHITET S

(4) ST Tt

a’a: P-T-o.
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108.The Cathepsin is a marker of : -

(1] Lysosome (2} Mitochondria

(3} Golgi apparatus B {4) Endoplasmic Reticulum
Fufees Premr mat (marker) & =

(1) wrEEEs (2) T (IE wieg

(3). AEAEEAT (Mitochondria) (4) grerenisaa TdHM (ER)

109.4All of the following cells contain nucleus except :

(1} RBCs = (2) Lymphocyte
(3} Granulocyte (4) None of the above

e Fifarsr & #= (Nucleus) & &
(1) TR PP (RBCs) (2) RFnEEe
(3) IgenaEe (4) 39 A 1 &

110. Human body is composed of about :

{1) 60% watér, 15% protein, ISWn/Jj.p‘id. 2% carbohydrate, 8%
minerals. . -0

(2) 60% water, 15% protein, lﬂw, 4% carbohydrate, 6%
mirrerals,

(3] 70% water, 15% protein, 15% lipid, 4% carbohydrate, 6%
minerais.

{4)] MNone of the above

9 % I H 9 SR

(1) 60% e, 15% O, 15% Jdl, 2% FaisEse, 8% @

(2) 60% STeT, 15% W&, 15% a6, 4% FHEEESE, 6% TH
(3] 70% T, 15% SIS, 15% T, 4% BEEEse, 6% T

(4) I | B T

34
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111. Biomolecules are :
(1) Ordered into a hierarchy of increasing molecular cnmplg:ﬁity
(2) They are linked by covalent forces
(3) These are super molecular system
{(4) None of the above : '
SR ¥
(1) mﬁaﬁmﬁmaﬁmﬁaﬁr%wt{tmﬁaﬁ%
() HeHEcw 5@ A 98 B ¥
(3) guoitfmgedx o ¥
(4 T ¥ B &

112.The Tﬂﬁary metabolism mearns

(1) The Reducing cquivalents enters the E.T.C, in Mltﬂthﬂnd] ia
where they are oxidised to water

{2) This process takes place in GIT
{3) In this process NADH and FADH, are gencrated
(4} [t dees not occure in mitochondria

gdias SuuEd B o §

% Wn@%%mﬁﬂﬂﬁmmﬁ
L iy

@) T% SR A B -
(3) & wlFar § NADH @ FADH, o ¥
4 w5 AgeEtge & T8 &l

113. Salient features of Active transport.age all except :
(1) Require energy
(2) Unidirectional
(3) 'Integral protein ie Tﬁnppﬁrter is required
(4) - Tmna_parg system is not Saharated at I}igli concentratiurl

38 P.T.0,
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(1)
(2)

Tl G B
U & fRem # ghar &

(3) FEAET HIEN argegs B
(4) Era9e faweq ot arw Re # dg< 781 een 2

114. Pinocytosis means :

(1]

Drinking by the cell

(2) Cells internalised extracellular molecules
(3] Cells takes up solids by this mean
" (4] None of the above
fEeY B o
(1] = s axer garf =g @
(2) e = ared el w e S
(3] SRl ZRT Srg Tl H T AT
(4) Iodewa F T g T ’
115. The butter contains :
(1) Butyric acid (2] Butic acid
(3) Palmitic acid (4) Oleic acid
yaEst o BT ¥
(1] ﬁgﬁf ULCES 2) %Qﬁ‘%‘é
(3) s (4] NERULIES

116. True about waxes are all cxcept :

(1)
(2]
(3)
(4)

They synthesise by secretion of Insects, leaves & pores of plants
Esters of higher fatty acids with monohydric alcohol

Esters of fatty acids with glycerol
They are used for preparation of candle, cosmetics ct

A F P § g ad Y

(1)
(2)
(3]
[4)

Qi & afvrgl, i B B8 o @ F g q IO
a8 aar & ary e & TR §
St og died SEe s A FET B @
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117.Soaps are :
(1) Sodium & potassium salts of long chain fatty agids
(2] Calctum & Magnesium salt of long chain fatty acids
(3) They are Alkyl sulphate .
(4) None of the above
g ¥
(1) =2 aerelt o oifdaw o RfEew @@
(2] w2 et o PReem o AR e
(3) - TRBRAW HEHE
(4) SudeRy ¥ § B

118. Mﬂstammdmidcmmtkthm body :

(1) Carbon (2) Nltrngen
(3] Oxygen (4) Hydrogen
weE ] & Wl S G SR e 9 o
(1) = (2} e
(3) SRS (4 =EEeH

119.The "Green House Effect” is-due to;
A asE ghue (TWE) @ e §

(1) CFC (@, 0O,
[3] cﬂx {'ﬂ HL‘I
120, Which of ‘thufoﬂumng acts as buffer in Blood :
(1) NeKHCO, + HCO, (2} H,So, + HCOy
(3) HNob, + HCO, 41 dione of the above
R AR R
(1) NaKHCO, + HCG, (2) -HSe, + HCO,
(3} HNo, + HCO,' (4) G"T?IEH-I ¥ ﬁ%ﬁ 2
37
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SECTION-II

Language : English

wos-11 -

[For Candidates Opting English Language)

Note: Four alternatives are given as possible answer to each question.
(iive the correct choice as an answer.

Directions (Q.Nos 121-124) : Sclect the word nearest in meaning
to the given word.

121. Seized

1] Sight | )
) Understand (4)
122 Terror
('} Impatient (2)
3) Anger (4)
123, Edge :
(11 Corner 2]
{3} Hedge (4)
124, Coarse _
(1] Syllabus (2}
(3} Study (4

Directions (Q.Nos125-128): In cach of the g
which is opposite in meaning to the

lanks -

125.When it's cold outside, it's so nice ta be ...
(1) Sane (2)
(3) Dry (4]

38

Caughit
Explain

Hurt
Fear

End
Fence

Rough
Surface

wven sentences select the word
underlined Word to fill in the

... Anside.
Shivering
Warm
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126.He was wearing two m t color socks but at least his shoes were

i oS
(1} Same {2) Several
(3) Uniform (4] Divérse.

127.Please fill the dishwasher and ........the trash.

(1) Pour . (2] Simple
[3] Complete (4) Empty
128, i31'14& was gptimistie about attendmg college, but .........about paying
or it.
(1) Pessimistic (2] unhappy
(3) Excited f " {4) Pearful

Directions {Q. Nos129.132) : Choose the correct preposition to fill in the

blanks :
29.The plane flies ...... the élouds.
(1} At _ (2) About
(3} Sinee (4) Inside
130.[ did not get the documents ........ 53 pm,
(1) Sinte - .. {2 Por
(3] Unp{. (4) When
131.The temiperatures have dipped ........freezing point.
(1) Ahead " - . 2) Below
(3) Abave: ' (4) Behind
132.When .......... Rome, do as.the Romans do.
(1) In {2) Near
(3) Above (4) Beside
39

PtT-O.
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Di:;ctiuns (Q. Nos 133-136}): Fill in the blanks with the correct form of
verb :

133. Every Monday, Sally ......... her kids to football practice.

(1) Drives (2) Drive
(3) Drove (4) Driven
134.Shhhhhl Be quiet ! John ......... sleeping.
(1] Were (2) Was
(3) Are 4) Is
135. At restaurants, Rama always .......... angry after waiting an hour for a
poor meal,
(1] Feel (2) Feeling
{3) Felt (4) Feels
136.The telephone ........ with shrill, annoying cries.
(1) Rings (2) Rang

(3] Rung....... (4) Ringing

Directions (Q. Nos 137-140) : Select the word has been wrnngly spelt :

137.(1) Secure (2) Fastened
{3) Occured % (4] Roaring
138. (1) Purgatory {2) Gazed
| (3) Curbed (4} © Decended
139.(1) Severity (2) Dragan
(3) Wheedle (4) Exclaimed

40
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140.{1)  Fiercely (2) Entirely
(3]  Gradually (4) Phenamena

Directione (Q. Nos Ml-:lm  Select thc part dmmh af'tha underlined
word in the givén sentences,

141. All along the weay, she did not speak a word ;

(1) Noun - 12 Prepostion

(3) Adjective : (4) Pronoun
142. Dracula bites his -viar_tims-aﬁ the neck :

(1) Adjective (2] Noun

(3) Verb (4) Adverb
143.He drove slowly :

(1) Adverb (2) Noun

(3) Preposition (4) Adjective
144.The trees were ablaze : .

(1) Adjcetive (2) Conjunction

(3) Prepm sposition ' (4) Adverb .

Directions (Q. Nos 145-147) : Fill in the blanks to cnmplctn the foilowing
proverbs :

45, Where there's a will there's a ........

(1] God (2) Determination
(3] Friend (4} Way
146.A friend int need is 8 p...c.indeed.
(1} Savior (2) Opportunity
(3) Friend (4) God
41

P.T.0.
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147. Empty vessels make the most ..........
(1) Use (2] Waste
(3) Delight (4} Noise

Directions {Q.Nos148-150): Change the given sentences into passive voice

148.Rita is writing a letter ;
(1) Written a letter by Rita
(2) A letter is being written by Rita
{3} Rita has written a letter
(4) Letter was written by Rita

149, They say that women live longer than men :
{1} Longer than men women live
(2) Men they say don't live longer than women
(3] Women live longer than men they say
(4] Women are said to live longer than men

150.Professor Sheela gave Jasmine an A :
(1} An A was given to Jasmine by Professor Sheela
(2) Jasmine got an A by Professor Sheela
(3) Professor Sheela had given an A to J asmine
(4) Professor Sheela gave an A fo Jasmine
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